5/2//s neles Peje /
Tkﬂ‘”t pé«Uleu/“@\ /;M/gXeMCCprz??)

LA . Y53
VT (65 o j‘ P
<5“ w”’( =, H IS g ~ Rl

© -1

angwer
FOY™ - X%
F)=-Y
F-N= 2N + 2

F(y~ F¢-N= —¥~-2 = @

w25 CXCrmpn) o
/

5+ (3+7) (o)
L 1 | £+ =
F(?‘w = §+’) )L —(5+/)2L +(0-}[\

Foy= €4~ 42747
F2) = 4 @)Y 4% )= ¢V -5 2

F(2) = ¢y - 16,2 = 32

A/ 3 -
=N = T3
= LLopf 2%

FeN= =507 = 2%

. g
FN-FUN=T5 - 75 = T




Fege 2

1 1’2”6\ 1/74 o ‘.
Cﬂﬂé\p% A %

~NE yoe! 3
) # 3. g(xﬁﬂx + ’7{('2)56(

Tl g[x x4+ 7<—2>c/>(

(~2+7)

5 ' « 1
_1_5,_75 ~ 2 (4 x +("?:"3>< +C




fiye 3

All These .
who are n‘y?-j&”i; P? 17/74

2
R, g (5/7( > 77{2+ L “’/)05/

Sencry ("5
qTﬂ 7(904»\/7/ — Gen
(3#1) 2D NS
5y = 7 GE I
= | 517>\>Y @

o0 = 1P TE) w2 1O

F) > 3 o
F(a)= 2-3a%+@-2 £8
L= /L 3D R

= 1L -QH+ Y 2 X

F/p)= o300 +©Y= () =0

F(2\-F) = —6&~0 = 6

@éﬁﬁéﬁ S

o — Scltﬂ%ﬂﬁé‘
ONJ ,
| as( C@MMW /S (Srap S

ded C@/ th/%f




